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PROSE
Answer the following in a word, phrase, or sentence each. (1x5=5)

What irritated the author Jerome when he started packing?

Who wrote the poem “She walks in beauty”?

Why was the plan of Space Regatta Consortium not implemented?
What, according to Murthy is the corner stone of self-knowledge?

What is Fatal to a plant as to a man, in the opinion of

Bose?

Answer any FIVE of the following in about 80 words each. (5x5=25)

How is light pollution a biological nuisance?
How did Harris and George make packing exciting?
Can you call Narayan Murthy a visionary? Why?

What is the difference between “fixed mind set” and “growth mind set"?

Explain the stanza quoted from “She walks in beauty”
Pollution”.

How does Aldous Huxley explain the agony of plants?
Explain the personal life journey of Mr. Murthy.
POETRY

in the context of “Light

fer AT 0y
L kb 1
jo

REESISE

Annotate any TWO of the following in about 80 words each. (5x2=10)

Only the worm, colonel of Carrion, cries:

“Waste no compassion on these separate dead!”
Statistics justify and scholars seize.

The salients of colonial policy.

What Is that to the white child hacked in bed?
To savages, expendable as Jews?

There is no shape more terrible than this -

More tongued with censure of the world’s blind greed.

More filled with signs and portents for the soul.
More fraught with menace to the Universe.

We slowly drove - He knew no haste

And I had put away

My labor and my leisure too,

For his civility.

Contd...2



5.2 i
G 135.1/535.2/335.2/435.2/53 >

ing i t 100 words each. (5x3=15)
of the following in abou
Answer any THREE

v i ?
Maya Angelou list a number of myths and legends in the poem Africa?
L. Why does oY hases described in the poem “A Far cry from Africa”? Explain,
_ What are the three p - - em “Th
: How does Markham present the degraded condition of man in the po e Man
3. "
with a Hoe"? : “Because I could not
What is the speaker’s attitude towards death in the poem "Beca
4. p
stop for death™?
SHORT STORY
v Answer any THREE of the following in about 100 words each. (5x3=15)
1. Write a note on Appa-Mam’s family. i .
>. Why do you think Appa-Mam was called names by people in his family? Explain.
3. What did Ivan think of his poor relatives?
4. How does Ivan visualize himself in early and late autumn?
GRAMMAR AND VOCABULARY
1. Rewrite the following sentences according to the instructions (1x5=5)
given in brackets.
1. He was an eminent scientist. He was also a famous author,
(Combine the two sentences using “Besides”)
2. Heis good dancer. He is also a good painter.
(Combine using “not only...but also”)
3. This book is so boring that I cannot read it.
(Use “too - to")
4. Kishore does not own a car. Vasu also doesn’t have one.
(Combine using “neither ... nor")
5 ?’ijay saidé "Thank you for your advice Sudeep. I feel greatly relieved”,
write in Reported speech)
2. Fillin the blanks with appropriate phrasal verbs. (1x5=5)
1. The plane is about to ...
(take up, take off)
2. g-e racing car ............o........... after it crashed into the fence.
lew off, blew up)
3 :’hlease t‘ your room before you go outside.
clean out, clean up)
4. Pl
(heoa::eoaé...r.{;i.c.l_.....)..... before I transfer your call to the sales department.
’ on
5. We i ;
ar_e going to ...........c.ceeueroee... the price of cereals today.
(look into, look upon)
3. Corr i "
ect the errors in the following sentences. (1x5=5
1. i i
X The train was being late by four hours yesterday.
3- :\; esist:r Is older to me by six years.
. acher ;
& U takes pride of his students’ successes.,
. you, I would stop talking to her.

The branch struck him hard and lay him unconscious
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Read the following passage and answer the questions given below.

A European study revealed that 100% fruit and vegetable juices are as effective
as their whole fruit or vegetable counter parts in reducing risk factors related to
certain diseases. The conclusion is the result of the study designed to question
traditional thinking that 100% juices play a less significant role in reducing risk
factors for both cancer and cardio-vascular disease than whole fruits vegetables.

Juices are comparable in their ability to reduce risk vis-a-vis their whole fruit
or vegetable counterparts, according to several researchers in the United Kingdom
who conducted the literature review. These researchers analysed a variety of
studies that looked at risk reduction attributed to the effects of both fibre and
anti-oxidants. As a result they determined that the positive impact fruits and
vegetables offer come not from the fibre but also from the whole fruit and
vegetables.

The researchers added that the positioning of juices as being nutritionally
inferior to whole fruits and vegetables in relationship to chronic disease
development is “unjustified” and the policies that suggest otherwise about fruit

and vegetable juices should be re-examined.

1. A person who studies a subject methodically to discover facts. (1)
(Choose a right word from the passage)

2. What is the outcome of European study regarding fruit and vegetable (2)
Juices?

3. What is the outcome of U.K researcher’s studies on various literature (2)

review conducted in this area?
You are elected as the Secretary of Debating Association of your college and (5)
you are expected to address its members during the inauguration of the
association. Give a brief self-introduction on this occasion and welcome
them giving the aims and objectives of the association.
Give one word substitutes for the following. Choose the (1x5=5)
appropriate answers from words given in parenthesis.
The European colonizers imagined native Carribeans as eating human flesh.
The students laughed quietly at the silly mistakes made by the English teacher.
The classroom was in a total state of confusion. ST ALOYS . LLE
He took some time to think deeply over the matter. Y T
The Maths teacher became rigid with anger. l AMTANCA]
(bristling, chaos, cannibal, mull, chuckle, flesh eater, cry)

PTTTTEI TR L
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UNIT-I

I Answer any TWO of the following questions in about 200-250 words

each: (2x5=10)
1. Explore themes of a sympathetic portrayal of tradition and a critique of

IIA

modernity in the short story ‘The Sky and the Cat".
Compare and contrast the characters of Krishnamurthy and Govindan Nair.
Sketch the character’of Kubra. FW:TH—__“T'—"

UNIT - II
Answer the following questions: | LIANG (5x1=5)
Name the figure of speech used in these words ‘Dark bullet, Missile, Grieving
Arrow’ from ‘Ode to a Large Tuna in the Market’.
I saw you dead/a deceased ---------- /of my own ocean..... Fill in the blank
with the actual word used in ‘Ode to a Large Tuna in the Market’.
Mention the four birds used in the poem ‘The season of Phantasmal Peace’.
What is an oxymoron and mention any two oxymorons from the poem, ‘The
season of Phantasmal Peace'?
Which word is now ‘obsolete’ according to Meena Kandasamy?
Answer any THREE of the following questions in about 200-250
words each: (3x5=15)
How does Keki N Daruwala personify Indian English In the poem ‘The
Mistress’?
What are the agnostic elements used In the poem ‘The Gods Wake Up"?
Explicate the poem "Ode to a Large Tuna In the Market’ with special emphasis
on the literary devices used in it.
Explain the importance of the last words "it lasted long” from the poem ‘The
Season of Phantasmal Peace’.
Answer any ONE of the following questions in about 300-350 words
each: (1x10=10)
Walcott considers ‘The Season of Phantasmal Peace’ as “the equivalent of
prayer, a vision of peace that must be heard continually.” Justify.
How does Keki Daruwala show his dissatisfaction in the present status and
condition of Indian English and also accept it as the medium of his
expression in the poem ‘The Mistress'?

Contd...2
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(10x1= 10)

UNIT - III
Answer the following questions:
Whom does Algernon think should set an example for the upper class?
Where has Cecily recorded her engagement to Algernan ‘EmesE?
Who Is Jack’s real mother?
What is Jack’s birth name?
How did Miss Prism recognize the handbag?
Jack makes up a story about his brother Ernest dying in
When does Lady Bracknell start liking Cecily?

Who lost Jack when he was a baby?
What two things, according to Aunt Augusta, are not the same and rarely go

together?
On what grounds does Jack Worthing, Cecily’s guardian, refuse to alloy

Cecily and Algernon’s engagement?

Explain the context of any TWO of the following quotations in about
200-250 words (2x5=10)
Yes. But why does your aunt call you her uncle? ‘From little Cecily, with her
fondest love to her dear Uncle Jack.” There is no objection, I admit, to an
aunt being a small aunt, but why an aunt, no matter what her size may be,
should call her own nephew her uncle, I can't quite make out. Besides, your
name isn’t Jack at all; it is Ernest.

Lady Bracknell, I admit with shame that I do not know. I only wish I did.
The plain facts of the case are these. On the morning of the day you
mention, a day that is for ever branded on my memory, I prepared as usual
to take the baby out in its perambulator.

So I know my constitution can stand it. If you are not quite sure about your
ever having been christened, I must say I think it rather dangerous your
venturing on it now. It might make you very unwell. You can hardly have
forgotten that someone very closely connected with you was very nearly
carried off this week in Paris by a severe chill.

Sketch the character of any TWO of the following in about 200-250

words: (2x5=10)
Algernon Moncrieff

Gwendolen Fairfax

Lady Bracknell

Answer any ONE of the following question in about 300-400 words
each: (1x10=10)
How is the gulf between the upper, middle and lower classes represented in
the play ‘Importance of being Earnest’?

Explain the pun in the title. Who is being Earnest In this play? Do Gwendolen
and Cecily prefer having husbands named Ernest to having earnest
husbands?

Contd...3
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IVA Read the following comprehension passage and answer the questions

(5x1=5)

Experiments are sometimes made by experts to find out how many errors
people make in their statements. Here is one experiment which was tried.

Some students at a university were shown on a screen a picture of a bullfight.
They were then asked to write a short account of what they had seen. When
this was finished, they were told to put a number on every statement made.

1. If they were fairly sure about it and 2. If they were prepared to swear to the
statement on oath. Every student had at least ten percent error in the
statements he was prepared to swear on oath and considerably more than ten
percent in the other group. Here, for example, was one mistake. A student
saw the bull had its tongue out. Yet when he was shown the picture again, he
was that the bull's mouth was closed, but that, because its head turned to the

side, the ear looked like the tongue.

So whenever you are arguing with

someone about a point, remember that there is quite a good chance that you
are wrong, however, confident you feel about it.

1. What was the aim of the experiment tried at the university?
,b' 0 AT A

2. What were the students shown on the screen?

3. What were they asked to do when it was shown?

4. What was the extent of errors In their statements?

5. One student made a mistake in regard to the position of the bull’s ------- 3
Complete this sentence with the correct alternative:

a) head

b) tongue ¢) mouth d) ear

!

B The line graph below shows Sam’s weight from January to May.

Summarise the information in the chart by selecting and reporting the
main features.

80 1
70
60 -
50
40

30 4
20
10
0

Weight in Kg

Sam's Weight
69 73

61
54

January

T

February  March April May
Month

C Write a short story on the following topic
The pretty girl next door
D Prepare an MC's draft for sports day.

R ERR KR KRRk gk

(5 marks)

(5 marks)

(5 marks)
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Choisissez entre I'imparfait et le passé composé 10x1=10

Superman Robert ( travaillait, a travaillé ) 3 Service Canada. Il ( aimait, a aimé ) son
travail, mais il y ( avait, a eu ) un probléme. Robert ( était, a été ) amoureux d'une
collegue de travail qui s'(appelait, est appelée) Nathalie. Elle ( ne savait pas, n'a pas su )
que Robert (existait, a existé ).

Un jour, Robert ( écrivait, a écrit ) dans son bureau quand tout acoup il y (avait, a
eu ) une explosion dans la rue. C' ( était, a été ) une mission pour Superman! Robert (
entrait, est entré ) dans une cabine téléphonique. Il ( ne savait pas , n'a pas su ) que
Nathalie ( le regardait, I' a regardé ) . Il ( changeait , a changé ) de vétements et tout de
suite il ( devenait, est devenu ) Superman! A ce moment, Nathalie ( savait, a su ) le secret
de Robert, et elle (tombait, est tombée ) amoureuse de lui.

I—‘_-' et - _._'__].

Lisez et répondez , ! : 10x1=10

JEANNE D' ARC.

Tout le monde autour de vous, connait le nom de Jeanne d'Arc. Qui est-elle ?
Jeanne d'Arc est née 3 Domrémy, en Lorraine, le 6 janvier 1412. Ses parents étaient
paysans. Elle passa les premiéres années de sa vie a garder, aux champs, les moutons de
son pere. |l faut vous dire qu'a cette époque, notre pays, la France, était presque
entierement prisonnier des Anglais. La France était en guerre contre |'Angleterre depuis
bient6t cent ans. Notre armée n'existait plus, nous n'avions pas de roi et les soldats pas
de chef. C'est a treize ans que Jeanne crut pour la premiére fois entendre des voix. Que
ui disaient ces voix ? Tout simplement, de chasser les Anglais hors de France et de faire
couronner roi, 3 Reims, le dauphin Charles VII.

Elle revét I'armure des chevaliers, monte a cheval et conduit ses maigres
troupes vers la ville d'Orléans encerclée par une solide armée anglaise. 8 mai 1429 : elle
3 17 ans. Jeanne, bien droite sur son cheval, son étendard au poing, donne aux Francais
un si beau courage qu'ils gagnent. Elle veut ensuite conduire Charles & Reims pour qu'il
soit sacré Roi de France. A la téte de ses soldats, aprés de nombreuses batailles, elle
réussit: le 17 juillet 1429 notre pays a de nouveau un roi: Charles VII. L'année suivante,
elle est faite prisonniére et vendue aux Anglais pour dix mille pieces d'or. Jeanne est
conduite 3 Rouen et enfermée dans la prison du chiteau. Elle est condamnée a étre
brilée vive, comme une sorciere. Elle est morte le 30 mai 1431, brilée sur la place du
Vieux Marché, a Rouen. Elle avait dix-neuf ans. Elle est morte, abandonnée de tous, de
son Roi, de ses soldats, alors qu'elle avait sauvé la France. Mais, grace a I'exemple qu'elle

a donné, les Frangais reprennent courage et en quelques années, chassent les Anglais

hors du pays.

P | -
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a) Quel 4ge Jeanne d'Arc avait-elle quand elle était morte?
b) Quelle est sa date de naissance ?
¢) Quiles francais chassent-Ils de France aprés la mort de Jeanne d'Arc ?
d) Comment va s'appeler le Rol de France ?
e) Dans quel chiteau rencontre-t-elle Charles VII ?
f) Comment est morte Jeanne d'Arc ?
g) Pour combien de pieces d’or, Jeanne est-elle vendue aux anglais ? .
h) Que veut faire Jeanne aprés avoir délivré Orléans ?
i) Qui essaye de délivrer Jeanne aux anglais?

i) Aquelle date délivre-t-elle Orléans ?

lll.  répondez six questions au choix 10x6=60
1. L'école de demain, ¢’est quoi pour vous?
2. Parlez du systéme de travail en France.

3. Que pensez-vous du mot “interdiction”. Quelles sont les interdictions nécéssaires pour
bien vivre dans la société?

4. Que pensez-vous de la presse en générale? Est-ce que les presse sont fiables? Pourquoi?

5. Pourquoi faut-il apprendre une langue étrangére? Quells sont les avantages lors qu’on
connait une langue étrangére?

6. Quels sont vos opinions sur les fates sans frontiers? Pourquoi?

7. De quoi le chapitre 3 parle-t-iI?

IV.  Ecrivez un dialogue au choix 10x1=10

1. Vous devez aller d’urgence dans une pharmacie. Vous garez votre voiture sur une place
de stationnement interdit. Un policier arrive......

Ou

2. Votre ami(e) va un entretien pour trouver du travail. Vous lui donnez des conseils sur
comment s’hablller, se présenter, comment parler etc.

V.  Ecrivez une lettre 10x1=10

1. Vous allez partir en France & Paris pour un program d’échange a I'Université René
Descartes. Vous avez un correspondant s’appelle Pascal. Ecrivez-
informations vous concernant et concernant votre programme.

lui en donnant des

LTI
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20 Life goals are something that people themselves and work hard to
active. These goals could be something you personally want to
achieve in your career. Such as working your way up in a company
to end up in a well paid job that you are happy in. Life goals can
also be personal, where people set themselves the goal of buying a
house ,getting married and having a family. A further type of goal is
an academic one. This could be the wish to gain a college degree or
a masters. Life goals are personal to the individual who set them
one person might see climbing the career ladder as more important
than starting a family and getting married.

There is a debate as to whether people should actually set
themselves life goals. Some people may find that the process effect
on them as it provides something to work towards.
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PART-A
Answer any TEN of the following: (10x2%20)

La) What 1s purpose of 114 and & 1eglstaris?
b) Reprasent (56), in packed and unpacked BCD format,
€) What is the role of direction flag In sting transfer iInstructions #
) Differentiate MOV NX, Data and MOV BX, OFFSET Data Instructions,

a)  Identify the add asslng mode
NMOV AX, 2000 1 ) MOV CX, [ 511 100%)
) What Is the use of 1EP prefix in string handling Instruetions?

@) What is the use of DAA Instiuction?
h)  What Is the difference betweesn macro and procedure in BOBG?
1) List the Instructions used to control carry flag bit,

1) What do you mean by segment overide prefix? | 0y

k) What Is the purpose of IRET and (T Instractions?
1) What Is the use of XLAT Instruction?
PART-B
Answer any FOUR of the following: (4x5=20)
Explain micro processor based computer systerm with the sultable diagram,

Explain stack mamory addressing mode,
4. Suppose DS= 1000H, S5=2000H, BP= O100H, Bx= 02501 and DI «02001
determine the address accessed by each of the following Instructions,
1) MOV [BX +DI), AX
1)) MOV | BP+10H], DX
m MOV CL, | BX+75H]
5. Explain the working of LOOP Instruction with sultable example,
Define Interrupt and Interrupt vector, Explaln INT 03 | nstruction.

7. List varlous shift Instructions In 8086, Explalin any two of them.

PART~C
Answer any QNE full question from each unit (4x15=60)
Unit- 1
8.a) Explain varlous flag reglsters of BOB6 micro processor. (7)
b) List varlous general purpose registers in 8086 and explain any four, (8)
OR
9.0) List and explain any three data definition directives used in BOBG (7)
microprocessor programming,
b) Explain (8)

1) BCD and ASCII data formats
i) Byte slzed and word sized data
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10.a)

b)

11.a)

b)

12.a)

b)

13.a)

b)

14.a)

b)

15.a)

b)

Unit- 11 _ ,
Explain immediate data addressing and register data addressing modes (7)
with examples. -
Write a note on program memory addressing modes.
OR

Explain intersegment jump and Intrasegment jump with the help arEn €
example.

Explain base-plus index and base relative plus index addressing modes  (8)
with suitable example.

Unit - III
List and explain any three instructions related to ASCII Arithmetic with (7)

example.

Explain the following instructions with syntax and example. (8)
i) XCHG ii) OUT iii) LEA iv) PUSHA

OR
Explain the following arithmetic instructions with syntax and example. (7)
i) ADC ii) DIV
Explain LODS and CMPS with example. (8)

Unit - IV )

What is procedure? Explain different types of procedure calls with (7)
examples.
Explain the following instructions (8)
i) LOCK i) WAIT iii)JMP iv) INTO

OR

Explain the steps taken by the processor when it executes interrupt and (7)
return from the interrupt.

List any six conditional jump instructions and explain any three of them. (8)
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s 3 hrEELATIONAL DATABASE MANAGEMENT SYiTafl::larks: _—
PART-A
Answer any TEN of the following: (10x2=20)

1. a) Define a) data base b) DBMS

b) Expand : DDL and DML.

c) Define BCNF, -

d) Name any two DDL commands in SQL.

e) What is the main goal of recovery? F"‘ o o '—";ir!

f) What is the role of DBA? [ Lo i

g) Define the terms : meta data and entity. L - |
h) Give the basic form of SELECT statement.

i) Create a table EMPLOYEE using SQL command to store details of employees
such that employee number, name, designation, department and salary.
Specify PRIMARY KEY and NOT NULL constraints on the table.

j) What is data constraint? What do you mean by table level constraint?

k) State any four aggregate functions used in relational algebra.

I) How does substr() function works in SQL?

PART-B
Answer any FOUR of the following: (4x5=20)
2. Discuss advantages of DBMS over traditional file oriented system.
3. Define 2NF and 3NF relations, Give examples.
4. How to sort a table in increasing order? Explain with example.
5. What is view? What are the rules for making a view updateable?
6. Explain the desirable properties of transaction.
7. Briefly explain client /Server architecture of DBMS.
PART-C
Answer any ONE full question from each unit (4x15=60)
Unit- I
8.a) Discuss different types of data independence. (8)
b) Explain three schema architecture of database system, (7)
OR
9.a) Explain the various types of attributes and the symbols used in ER (8)
diagram with an example.
b) Explain different types of database users. (7)

Contd...2
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Unit - II
10.a) Explain various types of JOIN operations of relational algebra.

b) Define normalization. Explain 3NF with example.

OR

11.a) What do you mean by relational algebra? Consider the rela
EMPLOYEE (EMPNQ, NAME, DEPTNO, SALARY)
DEPARTMENT (DEPTNO, DNAME, HEAD)

i) Find the list of employees who b
department.

iy  Find NAME and SALARY of employees who gets SALARY more
than 40,000. ’

i) Display all the details of employees along with their
department name.

tion schema.

eiongs to ‘ACCOU NTS'

b) List and explain the set operations.
Unit - III _
12.a) Explain primary key and foreign key as table level and column level
constraint.
b) Explain the following commands with syntax and example.
i) Delete i) Alter
OR
13.a) Explain ORDER BY and GROUP BY clauses in SQL with example.
b) Consider the table STUDENT with columns SNO, SNAME, CLASS, TOTAL
Write SQL commands to do the following
i) Display the names of the students of class IBCA in
alphabetical order of their total mark.
i) Display name and class of students whose name ends with
SHY,
iii)  Delete STUDENT table.
iv) List out all students whose total mark is less than 300 in class
I BCA.
v) List out number of students in each class.
vi)  Add another column MOBILE _ NO to the table.
Unit - IV
14.a) Explain different types of failure.

b) Write note on data insertion, modification and limitations of views

OR
15.a) Explain two phase commit protocol.

b) Diagrammatically explain state diagram of transaction.
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St Aloysius College (Autonomous)
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BCA Semester II - Degree Examination
Aprﬂ . 2018

DISCRETE MATHEMATICS
3 hrs. Max Marks: 100

PART-A
Answer any TEN of the following;:- (10x2=20)
Define universal set and null set.
Construct the truth table of PVQ.
Define WFF.

If the function is defined by f(x) = x + 1 on the set {—2,—10,1,2}. Find the

range of f.

Let f(x) =x+2 g(x) =x—2, find fog. F —_—
Write the dual of (P A Q) VT. e ' I
For a characteristic function show that ~~4 = A. [

Define a graph. Give an example.

I

What do you mean by a cycle in a graph? Give an example.
Define equivalence relation.
What do you mean by spanning a sub graph? Give example.

Define forest. Give example.
PART-B

Answer any FOUR of the following: (4x5=20)
LetA = {1,3,4},B = {3,4,5},C = {4}.Find i) AX (BnC) ii)AXB.
Define i) Contradiction ii) Tautology iii) not well formed formula
iv) distributive law with respect to ‘A" over * V'

Prove that (AU (BN 0)=(AuUBN(AUC)
AU(ANB)=AN(AUB)

LetX = {1,234} &R = {<x,y >/ x>y}

Draw the graph of R and matrix.

LetR&S betwosetsR={< 12>, <34 ><2,2 >}&
s={<42>< 2,5 >,< 3,1 >,< 1,3 >} Find ROS and SOR.
Define the terms path, parallel edges with example.

PART-C
Answer any ONE full question from each unit (4x15=60)

Unit-I

Prove that (P © Q) © [(~P VQ) A (~Q V P)] is a tautology. (5)

Explain different connectives present in propositional logic. (10)
OR

Show that (P = QV R) is logically equivalentto (P —» Q) A (P — R). (6)

State and prove Demorgan’s law. (5)

Prove that (AV B) A (TA) isa contingency. (4)
Contd...2
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10.a)
b)

11.a)

b)

12.a)

b)

13.a)

b)

14.a)

b)

15.a)

Page No.2
Unit - IT
IfA ={1,2,3,4,5,6), B = {1,3,4,5)Find (i) A @ B, ii) B? iii) A X B. ()
fR={<11><12><14><21><22><23><32 (6)
< 3,3 >,< 4,2 >, < 4,4 > construct relation matrix of R and draw
diagraph of R.
Show that(¥, A Wp)(x) = W (x) * ¥ (x). S
OR
Let A = {a,b, c] be the given finite set and p(A) its power set and < be (5)
the inclusion relation on the elements of p(A). Draw the Hasse diagram
of < e(A),<>.
LetA = {1,2,3),B =(1,2,5,7,9} writeA— B,B—A,AUB,ANB (5)
Given Mg & M; prove that Mggss = M3og (5)
1 0 1 1 0 010
Mg=110‘, M5=10101]
1 1 1 01 010
Unit - II1
1 : (4)
Show that functions f(x) = x® and g(x) = x3 for x € R are inverse of
one another.
Explain any 4 properties of a binary operation with example. (8)
Consider A = {a, b, ¢} find P(A) and define one binary operation union.  (3)
OR
Define onto, into, one-to-one, one-to-one onto functions with suitable (8)
diagram. _
Let x ={1,2,3} and f,gh&s be function from x to x given by (7)
f={<12><23><31>] g={<12><21>,<3,3>}
h={<11><22><3,1>, §={<11>,<2,2><33>}
find fos, fohos, gos, fos, sos, gof.
Unit - IV
Define i) acyclic graph ii) Adjacent vertices iii) Isolated vertex (8)
iv) Elementary path with example.
Define handshaking property of a graph with an example. (5)
Define path matrix with example. (2)
OR
Define subgraph and converse of a graph with example. (5)
Define weakly connected & strongly connected graph with example. (4)
Convert following tree into a binary tree (5)
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St Aloysius College (Autonomous)
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FOUNDATION COURSE IN INDIAN CONSTITUTION AND VALUE EDUCATION
Time: 3 Hours Max. Marks: 100
PART - A

INDIAN CONSTITUTION
I. Answer all the following questions in three sentences each.
Each questions carries one mark:

B9NS S, TARUR, etk ERYY, w3080, Fcdeord JZre woth wosnel.

(1x5=5)

Name the plan, under which Constituent Assembly was set up in India.

odeE cdnendod BRbrTN U3 Bodgess Clae HyIoday, n%hﬁmoba:@a?

2. How many members are nominated by the President of India to Lok Sabha
and Rajya Sabha?
1RUSE togBeodn Aaes X! Iy, oo, AT oy, RIRO, Febe SRRIT?

3. Name the constitutional amendment through which the right to property was

deleted from the list of Fundamental Rights of Indian constitution.

BoDFIST w3 TRk Hevs wch BT, SwoIed BENY Tty cwod 3t

Soswachz?

4. Who acts as a link between the President and Cabinet?
nﬁwsb“ s, m%q)‘é{‘d [ETew Frofodh o3 lr.ad’6 ad?&omm_,d? E

[

o

5. Name the two Houses of state legislature. L
ooz, ToXEONE TR REINTT, THOAD.

II. Answer any FIVE questions in about a paragraph each. Each question

carries 3 marks: (3x5=15)
29N IRt D BEren o DoBBedt w3040, B3adsomh JIne 3 vodnh.

6. Radha and Rahim were studying in a college together for five years. When
they became 25 years old and were employed they wanted to get married to
each other. But their parents did not approve this alliance as both of them
belonged to different religions. However both Radha and Rahim decided to
go ahead and get married. Radha’s family got upset about it as they thought
that she had brought dishonour to the family. They got Rahim beaten up by
goons and abducted Radha and put her on house arrest. When Rahim
complained it to the police, the police expressed their helplessness.

i) Do you think Radha’s family Is right in taking such a stand against Radha?
il) Name the right of Radha and Rahim that is violated in this incident.
iii) Do you approve the behaviour of the police?

oo HI, Tt 5 I wordt BIRT D PERTING T ,RoN FPAE Iohaodh
3ah, 258 SoHaRY BHOY T FIcIRnes W AT I, B, 6,000 e
Ddohen BreeoZ . SE0H THBoDH L tod oo s SnagawZ,0. wmoes
BHAT0IE TopeY BDOWTTT *TH I, Bedowd, Y08 Homd witeh Cleha Seed
TR 98 SBa necmnvos BRBRDT,E TN TGV @ WORREO, B3, Choety
8 pulded wif Sneoton Beowmen, RO Towy B RYBeBRO sxmobEh, N
g 63 Dt HH/:C.
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10.

11.

I1L.

12.

13.

14.

15.

16.

17.

18.

IV.

19.

—~~ ﬁmcgﬂﬂ‘.‘?

) 2, UPTRAdE TLEC Y HESCLY WIT §Z TN, SPBI
&) GO DX, CheaiT T Doogis? B8, 7Y ey opReIRns?

=) ZROXT IFrdon, Y SDIR0ORIR?

. S
What is the recent judgement of the Supreme Court on honour killing
Betrms et L, X3pry, MO 3T deabe SRHR?

Explain any three types of writs enshrined in the constitution.
Lt~ A st_;_p::s ARHTRtts Heth OiF GREne t.:.r;. HTOAD. .

i
Prime minister is considered as “primus inter pares” (first among equals).
State the reasons.

omst Shodoha, RERAUG, Sates somh TONSESNS, BIEHIE A8

Write your opinion on Triple Talaqg Bill.

BT IoorF WRATCL wii A8, s chad, wodke.
Mr. Shakti was arrested by the police authorities. He was_detained ig il"\:g
custody and the police did not book a charge sheet against Mr. Shakti.
Describe the remedy available for Mr. Shakti in Indian Constitution. Who can
tender application for such a remedy?
Yroin® B8, e=oS, SRedno) wop L. BIT e
22¢O0%X0> VSO, WePITD, =0%%,C. RU3E ReOGRRBY. B

"

TozoOST, HTOKC. =m0 WOTROHN 030> wech, B, RuEsmond?

3 cingde masd g §feYst
codnd B ohTon OIS

Answer any FIVE questions in about 10 sentences each. Each
question carries 5 marks: (5x5=25) ,i
¢9n cinymerids pob FAfet 10 THYAYQ eI0n0. Podeomh WA 5 BoFRW.

State the preamble of Indian Constitution. State its significance.
ROEE Rolgedd gqﬁaﬂo&;&h wilch e wmgsmﬂ 3920. |

Examine the federal features of Indian Constitution.
4030 TolGRIs Kooinw 3 ¥ uq_‘ NeEy TodbedAal.

Explain the Gandhian principles incorporated in the Directive Principles of

State Policy.
roofeRohTT 2 o0 ooz Red ndeezs sgﬁvmﬂ ToA0.

Explain the method of election of the President of India.
oo3d m%ﬁaoﬁdd wHSded HGRESR, HTOXD.

What are the functions of Speaker of Lok Sabha?
Snegnylod TG ET soohenToywny?

Examine the role of TRAL

TRAI ot ZoZ, TOBLOAD.

Explain SEBI and Competition Commission of India.
SEBI monin yod3cod X por ecdoenma;, LS00,

Answer any ONE question in about 20 sentences eac
question carries 10 marks: h Each(mn_m)

dONE SRYER word BB b, 20 AV, e300, 3cdaomd "2 s 10 wosnsh
d M

Explain Right to Equality and Right to Freedom a _
Indian citizens. s fundamental rights of

o Dok FHROPLRT THNWME ISRIB
:;J::!M I % By B Ty, Tne W03 By,
DTOAD.
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20. Explain the organization and functions of Lok Sabha.
dnedrylodh 0uR =nn uwaa—mm‘ LZ0L0.

V. Answer any ONE question in about 40 sentences each. Each
question carries 15 marks: (15x1=15)

8913 onIYmecida toch Hehay 40 TNV 03010, Tdokaomd BERA 15 VBT,

21. Explain the salient features of Indian Constitution.
U3 Hodgnsn 30D O vy DTOXD.

22. Describe the powers and functions of the President of India.
EAplet 1t oo B3 @QmT Zore TooRE Vs HTOXO.

PART - B

(VALUE EDUCATION)

VI. Answer any FOUR questions in about 8-10 sentences. Each question
carries FIVE marks: (5x4=20)

99NS cinYmdte ey, ZENVS, 8-10 YO, w3010, Iadeomd B 5 YoErh.
23. Explain human personality as a positive of self image of five components.
SREST FEI P womd g E A ons o Hogonds) Broddeodsd KownmEy HIFOLO.

24. Mention the characteristics of a good human personality.
W od SRS 88,30 ogoneh aTJoro.

{ST.ALOYST T |
1
)

25. Write a note on alcoholism.
DEIIT 1 G oo, L

26. "The choice of a career is a process not an event”. Explain.
“Tyd,oh wody, womd PR v, o Fyod” dowday, HEOXO.

27. Name the drugs of abuse and their effects.
SRoE T, NI, B0k, SPYNY JOMTHNYRY, WIO.

28. What are the five steps in family counseling?
Pibond 6, ZoEah Do BoINTYY?

VII. Answer any ONE question in about 20 sentences. The Question
carries 10 marks: (10x1=10)

99N cIRFoeoos wodh FFoh, 20 WYY w3 oxd. M 10 vosrih.
29. What are the causes of dysfunctional family? Suggest remedies.

mbeos:» &at.iac;z.n!e sonvoD)? ﬁomdﬁ!’?ﬁg‘. BRULD.

30. Explain the important points one has to keep in mind while facing an
interview?

ToRBe IS, QmpomTn ISLBlens UIFE LoBRwIT)? LTOAD.
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